Form ACO-1 September 1999 Form Must Be Typed

KANSAS CORPORATION COMMISSION CONFIDENTIA GAS CONSERVATION DIVISION CONFIDENTIA GAS CONSERVATION FORM WELL HISTORY – DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 3842	API No. 15 - 159-22434-0000
LARSON OPERATING COMPANY Name: A DIVISION OF LARSON ENGINEERING, INC.	County: RICE
Address: 562 WEST HIGHWAY 4	NE NW SW Sec. 21 Twp. 18 S. R. 9
City/State/Zip: OLMITZ, KS 67564-8561	2310 feet from SOUTH Line of Section
Purchaser: GARY-WILLIAMS ENERGY CORPORATION	900 feet from WEST Line of Section
Operator Contact Person: TOM LARSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 653-7368	(circle one) NE SE NW (SW)
Contractor: Name: PETROMARK DRILLING, LLC AN 1 3 200	
License: 33323	Field Name: WILDCAT
Wellsite Geologist:TIM_HEDRICK	Producing Formation: BASAL PENN SAND
Designate Type of Completion:	Elevation: Ground: 1724' Kelly Bushing: 1730'
X New Well Re-Entry Workover	Total Depth: 3360' Plug Back Total Depth: 3310'
XOilSWDSIOWTemp Abd.	Amount of Surface Pipe Set and Cemented at 384 Fee
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☐ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Fee
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/ sx cmt
Well Name:	RECEIVED
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT I WITH 3.5-
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) JAN 1 4 2005
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used WICHITA, KS
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License No.:
9/23/2004 10/5/2004 1/3/2005	Quarter Sec Twp S. R East West
Spud Date or Recompletion Date Date Reached TD Recompletion Date Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workove information on side two of this form will be held confidential for a period of	
herein are complete and correct to the best of my knowledge.	Sac madely have been fully complied with and the statements
11 41-11	KCC Office Use ONLY
Signature: Alamas II Terral	Letter of Confidentiality Attached
Title: SR. GEOLOGIST Date: 1/13/2005	If Denied, Yes □ Date:
Subscribed and swom to before me this 13TH day of	, Wireline Log Received
2005.	
10 OX 1 BY COTANO	Geologist Report Received
Notary Public: January OVI January Public:	UIC Distribution
Date Commission Expires:	
My Commission Expires 9/22/05	

Operator Name:	LARSON C A DIVISION				NC.	Le	ase Name:	SCI	HOONOVEF	RTRUST	Well #:	1-21
Sec. 21	Twp1	8S. R	9	D E	ast 🛛 We	st Co	ounty:	RIC	E			
•	sed, flowing a as to surface	and shut-in test, along	pressures	s, whether sl	hut-in pres	sure reached	static level,	hydros	static pressu	drill stem tests giving res, bottom hole ten of all Electric Wirel	nperature, fl	uid recovery,
Drill Stem Tests T (Attach Addition			Yes	□ No	0	Log		Forma	ation (Top), I	Depth and Datum		☐ Sample
Sample Sent to G	eological Su	rvey 🛛	Yes	□ No		Name TOPEKA	n				72	Datum -742
Cores Taken			Yes	⊠ No		DOUGLA BROWN	S			27	742 774 668	-1012 -1044 -1138
Electric Log Run (Submit Copy))	⊠	Yes	□ No		LANSING ARBUCKI TD	i		CC	28 32	93 57 60	-1163 -1527
List All E. Logs Ru	DUA MICI	L INDUCTION L COMPEN RORESISTI SONIC	NSATED	POROSITY	,	.5	ć (N 1321 FDENT			
				SING RECO		New	☐ Us		· · · · · · · · · · · · · · · · · · ·			
			Report a		- conduct	or, surface, ir	ntermediate,	produc	т	Γ		
Purpose of string	Size Ho Drilled			Weight Lbs./Ft.	Setting Depth		Type of Cement		# Sacks Used	Type and Percent Additives		
SURFACE	12-1/4"	8-5	5/8	28	384'	CLASS A			225	2% GEL & 3% CC	;	
PRODUCTION	7-7/8"	5-1	/2	14	3356'	ASC ALC			100 100	5#/SK GILSONITE , 3/4% CD-31 NONE		D-31
				ADE	OITIONIAL (CEMENTING	-/OOUEEZE	DECO	DD.			T. 18-4-1
		De		ADL	JITIONAL (JEWENTING	1/SQUEEZE	HECO	עא			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone			Type of Cement			# S	acks Used	Type ar	nd Percent A	Additives		
Flug On 20						PP-93-14-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1						
Shots per Foot PERFORATION RECORD – Bridge Plugs Set Specify Footage of Each Interval Perforate				Plugs Set/ I Perforate	Type d	Acid. Fracture, Shot, Cement, Squeeze Record (Amount and Kind of Material Used) Depth						
4 JSPF	3242 - 46						NONE			RECEIV	A Corns Greek	
									KV	NSAS CORPORATIO	N COMMISS	ON
					****			************		JAN 1 4	2005	
										CONSERVATION I	DIVISION (S	
TUBING RECORD	•	Size 2-3	3/8"	Set At 3309'		acker At NONE	Liner Run] Yes	⊠ No		
Date of First, Resu	med Produc	tion, SWD c	r Enhr.	Producir	ng Method				1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1			
	1/3/05						Flowing	×	Pumping	☐ Gas Lift	☐ Oti	her <i>(Explain)</i>
Estimated Producti Per 24 Hours	on	Oil 20	Bbls.	Gas	Мо О	of Wa	ter Bb	ols.	Ga	s-Oil Ratio		Gravity 46
Disposition of Gas												
☐ Vented ☐	Sold	☐ Use	ed on Lea	se	□Оре		☑ Perf.	_	Dually Comp	o. 🔲 Comming		3242 - 46
Jinea, vaoi					☐ Oth	er (Specify)	***************************************					

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDÈRAL TAX ID# 48-0727860



RECEIVED OCT

INVOICE *****

Invoice Number: 094610

Invoice Date: 09/28/04

Sold Larson Operating Co. To: 562 W. HiWay #4

Olmitz, KS 67564

JAN 1 3 2005

CONFIDENT

RECEIVED KANSAS CORPORATION COMMISSION

JAN 1 4 2005

CONSERVATION DIVISION WICHITA, KS

Cust I.D...: Larson P.O. Number.: Schoonover TR ギーシー

P.O. Date...: 09/28/04

Due Date.: 10/28/04

Terms.... Net 30

Item I.D./Desc. Qty. Used	Mutr	Atice	Net	TX.
Common 225.00	SKS	7.8500	1766.25	T
Gel 4.00	SKS	- 11.0000	44.00	. T
Chloride 7.00	SKS	33.0000		
Handling 236.00	SKS	1.3500	318,60	E
Mileage (30) 30.00	MILE.	11.8000	354.00	E
236 sks @\$.05 per sk per mi	•	•		£.
Surface 1.00	JOB"	570.0000	570.00	\mathbf{E}
Mileage pmp trk 30.00	MILE	4.0000	120.00	E
Extra, Footage Company of 182.00.	· PER.		41.00	E
Wooden Plug	EACH	55.0000	55.00	Total
		7-	•	
All Prices Are Net, Payable 30 Days Followin	~ C1	ibtotal:	3499.85	
Date of Invoice. 1 1/2% Charged Thereafter.		ix:	132.06	
If Account CURRENT take Discount of \$ 349.98	P Pa	yments:		
ONLY if paid within 30 days from Invoice Dat		tal:	3631.91	
			349.98	
and the state of t		**************************************	277.10	
		•	32819	3
			000111	_

☑DRLG ☐ COMP ☐ W/O ☐ LOE

AFE #

ACCT #

APPROVED BY

ALLIED CEMENTING CO., INC.

P.O. BOX 34 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860 * INVOICE **

Invoice Number: 094737

Invoice Date: 10/08/04

Sold Larson Operating Co. To: 562 W. HiWay #4 Olmitz, KS

67564

RECEIVED KANSAS CORPORATION COMMISSION

ian 13**2005**

JAN 1 4 2005

JWFIDENT.

CONSERVATION DIVISION WICHITA, KS

Cust I.D. ...: Larson

P.O. Number. :: Schoonoverl-21

P.O. Date...: 10/08/04

Due Date.: 11/07/04 Terms...: Net 30

Item I.D./Desc. Qt	y. Used	Unit	Price	Net TX
Common	60.00	SKS	7.8500	471.00 T
Pozmix	40.00	SKS	4.1000	164.00 T
Gel (Albert Constant)	6.00	SKS	11.0000	66.00 T
ASC COLUMN TO THE REAL PROPERTY OF THE PROPERT	100.00	SKS	9.8000	980.00 T
KolSeal	500.00	LBS	0.5000	250.00 T
CD-31	and the second of the second o	PER BOOK I	5.5000	275.00 T
ASF		GAD		500.00 T
Part C. Water and Property of the Late Comments of the Comment of	212.00	the second superfunctioning SKS they can all the	1.3500	286.20 E
.Mileage (30)		MILE	10.6000	318.00 E.
212 sks @\$.05 per			11000000000	
LongString			1180.0000	1180.00 E
Mileage pmp trk Rubber Plug	30.00	MILE	4.0000	120.00 E 60.00 T
Rotating Head	1.00	EACH	75.0000	75.00 T
Rocacing nead	1.00	in inch	75.0000	73.00 1
				and the second s
All Prices Are Net,	Payable 30 Days	Following Subto	tal:	4745.20
Date of Invoice. 1 1				178.98

All Prices Are Net, Payable 30 Days Following Subtotal: 4745.20
Date of Invoice. 1 1/2% Charged Thereafter. Tax...: 178.98
If Account CURRENT take Discount of \$474.52 Payments: 0.00
ONLY if paid within 30 days from Invoice Date Total...: 4924.18

4449.66

☐ DRLG	COMP		
AFF #		,	

ACCT # 137/60

APPROYED BY

7.C. Jaron